J&K POLICE PUBLIC SCHOOL, MIRAN SAHIB, JAMMU

SUBJECT - MATHEMATICS CLASS - IV
ASSIGNMENT NO.-4 M.MARKS- 20
Name:- Class & Section :-

Book:- Math- Magic Textbook in Mathematics Class-1V

Chapter:- 3 A trip to Bhopal

Q1. Multiple choice questions. 5m
1) One bus can carry 48 children . How many children can three buses carry?
a) 100 c) 144
b) 160 d) 200
i) Which pair of numbers add to make more than 500?
a) 152 and 241 c) 99 and 299
b) 321and 192 | — d) 401 and 91
iil)  When zero is added to a number , then the sum is
a) The number itself C) zero
b) One d) None of these
iv) Neena bought 5 kg of wheat for Rs. 250. The cost of 1kg of wheat is
a) Rs90 c) Rs 120
b) Rs50 d) Rs 140

V) What must be added to 976 to get 1000?
a) 165 c) 24

b) 290 d) 100

Q2. There are 50 toffees in a packet . How many toffees are there in 25 such packets? 3m
Q3. A parking lot is 230 m long. How many cars of 5 m can be parked in that area? 3m

Q4. David left home at 4:30 p.m. to meet his friend . He came back after 3 hours 25 minutes. At
what time did he come back? 3m



Q5. A group of friends went to an amusement park and took some rides. Each ride had different

price and different duration as given below. 6m
Name of ride Ticket price Duration
Roller coaster Rs.40 30 min.
Twister Rs.30 15 min.
Go - Slide Rs.35 40 min.
Sky —high Rs.20 30 min.

Answer the following questions on the basis of above table.

a) Ritu and Seema first went for Roller coaster and then took Go- Slide. How much money
did they pay for both the rides?

b) In 1 hour which rides will complete their two rounds ?

c) Which ride takes less than half an hour to complete one round?



